NWT 4 Linux & Windows 05 August 2019, 18:42

Startfrequenz: 1900.000000 MHz; Endfrequenz: 2999.979960 MHz; Schrittweite: 110.020 kHz
Messpunkte: 9999; Zwischenzeit: 0 uSek
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Shift aktiv ¥-Raster: 100.0 MHz Shift aktiv
;no_label fm: 2401.746210 MHz
f2: 2449.329860 MHz

Kursor 1: B6db: 109.800 MHz
2401.801220 MHz f1: 2347.341320 MHz
Kanall: -0.67dB f2: 2457.141280 MHz
--------------------- B60db: keine
Kursor2:  emmmmmmemmeees

1967.662300 MHz

Kanall: -52.10dB

Kursor 3:

2834.839940 MHz

Kanall: -45.23dB

Kanal 1

max:-0.67dB 2390.029080MHz
min:-60.30dB 1900.000000MHz
B3db: 95.167 MHz

Q: 25.24

f1: 2354.162560 MHz



